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INCOME GROWTH RATES IN 1193_9 TO 1968 FOR PERSONS BY OCCUPATION
'AND INDUSTRY GROUPS, FOR THE UNITED STATES

This report presents annual compound growth
rates for persons 14 years old and over by, current
occupation and industry groups, race, and sex,
by total money income and wage or salary income
in current dollars, from 1939 to 1968. Included
also are the median total money income and median
wage or salary income as the basic data under-
lying the growth rates shown in this reporF.

|
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RELATED REPORTS ’

Current Population Survey.--Othér data based -

on the Current Population Survey showing the
distributions of households, families, unrelated
individuals, and persons, by income levels, have
been published in the Series P-60 reports, Nos. 1
to .68. Occasionally, tables showing the cross-
classification of income and other characteristics
have been published in the Series P-20 reports of
the Bureau of the Census and in the Bureau of
Labor Statistics, Special Labor Force Reports.
|

A historical and analytical summary; of the
income data collected in the Current Population
Survey appears.in Technical Paper No. 8, Trends
in the Income of Families and Persons in the

United States: 1947 to 1960, published in 1963.

This report contains detailed tables showing in- -

come distributions in constant (1959)dollarts, mean
incomes, fifths, and Gini Ratios of families and
unrelated individuals cross-classified by 'various
characteristics, for the United States, urban and
rural, Similar data are also shown for males and
females classified by the amount of their own

- . e gzl
income and various personal characteristics.

A report entitled Technical Paper No. 17,
Trends in the Income of Families and Persons in

published reports. Basic distributions of persons
14 years old and over, families, and unrelated
individuals, by money income in 1959, for the
United States, each of the States, counties, standard
metropolitan statistical areas, urbanized areas,
and urban places are presented in 1960 Census of
Population, Vol. I, Characteristics of the Popu-
lation, chapter C, “General Social and Economic
Characteristics,” Statistics on income in 1959 by
detailed characteristics, including cross-classi-
fications by age, weeks worked, education, type
of family, etc., are presented in 1960 Census of
Population, Vol. I, Characteristics of the Popula-
tion, chapter ‘D, “Detailed Characteristics,” for
some or all of the following areas: United States,
each of the States, large counties, and standard
metropolitan statistical areas of 250,000 or more,

Detailed cross-classifications on the income
in 1959 of families and persons by their social
and economic characteristics, for the United States,
regions, and type of residence are published
in 1960 Census of Population, Subject Reports,
Sources and Structure of Family Income, Series
PC(2)-4C. Major emphasis is placed on the com-

. position of family income and the major sources

of this income, i.e.,, wages and salaries, self-
employment, and other income. The tables for
persons present information on the contribution
to family income of the head, wife, children, and
older family members and show the mean incomes
for occupation groupings cross-classified by in-
dustry groupings, color, and sex. '

Cross-tabulations by earnings in 1959, age,
and educational attainment of males 18 to 64 years
old, for the United States, the South, and the
other three regions combined are published in 1960

the United States: 1947 to 1964, issued in 1967,
updates the information contained in Technical
Paper No. 8. This report includes essentially the
same information as Technical Paper No. 8 except
for the following: Technical Paper No. 8 shows
income data in terms of constant 1959 ldollars
whereas this report updates and revises'!'income
information in terms of constant 1964 dollars.
Income data and various characteristics are cross-
classified by nonfarm and farm rather than by
urban and rural categories. Inaddition, new income
information covering work experience, occupation
of longest job, and source of income has been
added. L

1960 Census.--Income data collectedi' in the

1960 Census of Population appear in a number of

t
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Census of Population, Occupation by Earnings and

Education, Series PC(2)-7B. Data on the income
of families in which the head or the wife was 65
years old and over and on the income of persons
65 years old and over classified by a number
of characteristics are presented for the United
States, each of the States, and standard metro-
politan statistical areas of 250,000 or more in
1960 Census of Population, Income of the Elderly
Population, Series PC(2)-8B,

Statistics on income in 1959 of primary fam-
ilies or individuals by housing and household
characteristics, such as tenure, household compo-
sition, condition and plumbing facilities, and gross
rent and value, are presented in 1960 Census of
Housing, Volume II, Metropolitan Housing, for the
United States by geographic divisions and for

1
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each standard metropolitan statistical area and

place of 100,000 inhabitants or more. Additional .

data on income cross-tabulated by housing and
household subjects are presented in 1960 Census
of Housing, Volume V, Part 1, Residential Finance--
Homeowner Properties; Volume VI, Rural Housing;
and Volume VII, Housing of Senior Citizens. Also,
a monograph, Income Distribution in the United
States, sponsored jointly by the Bureau of the
Census and the Social Science Research Council,
was published in 1966. Technical Paper No. 16,
Present Value of Estimated Lifetime Earnings,
by H. P, Miller and R. Hornseth, published in 1967,
presents estimates of the present value of esti-
mated lifetime earnings for men in 10 major
occupation groups classified by color, earnings,
and years of school completed.

Statistics on income in 1959 collected in the
Current Population Survey of March 1960 may
differ from data for that year from the decennial
census despite the fact that the same basic concept
was used in both instances.

In the first place, the survey data exclude the
institutional population and most members of
the Armed Forces living on post., These two
groups were included in the census. Secondly,
college students are generally enumerated at
their own homes in the Current Population Survey
and classified as family members, but were
enumerated at their college residence in the
census, usually as secondary individuals. Thirdly,
the small group of Current Population Survey
enumerators were more experienced and had more
intensive training and supervision than the large
number of temporary census enumerators and
may have more often obtained more accurate
answers from respondents, Moreover, income
data in the Current Population Survey are based
on responses to separate questions on eight de-
tailed types of income, whereas in the census
only three broad questions were used.

1950 Census. --Distributions of persons 14years
old and over by total money income in 1949 appear
in the publication, U.S, Bureau of the Census,
1950 Census of Population, Volume II, chapter
C. Similar data for families and unrelated in-
dividuals appear in Volume II, chapter B: Data
for the United States and regions appear in Volume
II, Part 1, United States Summary, whereas sepa-
rate data for individual States are presented in
the other parts. Various special reports contain
additional income data; however, there is no spe-
cial report dealing exclusively with income data,
In addition, a monograph, Income of the American
People, sponsored jointly by the Bureau of the
Census and the Social Science Research Council,
was published in 1955,

1940 Census,--Data relating to wage and salary
income in 1939 have been presented in several
different reports of the Sixteenth Decennial Census.
A complete list of these reports is shown in ear-
lier Current Population Survey reports on con-

sumer income.

DEFINITIONS AND EXPLANATIONS

Population coverage.--This report includes the
civilian noninstitutional population of the United
States and members of the Armed Forces in the
United States living off post or with their families
on post, but excludes all other members of the
Armed Forces; the March 1969 survey included
about 1,028,000 members.

Income.--For each person in the sample 14
years old and over, questions were asked on the
amount of money income received in the preceding
calendar year from each of the following sources:
(1) Money wages or salary; (2) net income from
nonfarm self-employment; (3) net income from farm
self-employment; (4) Social Security; (5)dividends,
interest (on savings or bonds), income from estates

_ or trusts or net rental income; (6) public assistance

or welfare payments; (7) unemployment com-
pensation, government employee pensions, or
veterans’ payments; (8)private pensions, annuities,
alimony, regular contributions from persons not
living in this household, royalties, and other
periodic income, :

The amounts received represent income before
deductions for personal taxes, Social Security,
bonds, etc. When an indefinite amount was re-
ported by the respondent, a specific value was
assigned during processing wherever possible,
If the indefinite amount was reported in terms of
a range, the midpoint of the range was assigned
(i.e., $10,000 to $15,000 was coded as $12,500).
Open-ended amounts were converted to designated
specific amounts; e.g., over $10,000 was coded as
$16,000.

It should be noted that although the income
statistics refer to receipts during the preceding
year the characteristics of the person, suchasage,
labor force status, etc., and the composition of
families refer to the time of the survey, The
income of the family does not include amounts
received by persons who were members of the
family during all or part of the income year if
these persons no longer resided with the family at
the time of enumeration. On the other hand, family
income includes amounts reported by related
persons whodid not reside with the family during the
income year but who were members of the family
at the time of enumeration,




Data onconsumer income collected by the Bureau
of the Census cover money income (exclusive of
certain money receipts such as capital gains)prior

to deductions for taxes. The fact that many farm’

families receive part of their income in the form
of rent-free housing and goods produced and
consumed on the farm, rather thanin money, should
be taken into consideration in comparing the income
of farm and nonfarm residents. It should be noted
that nonmoney incomes are also received by some
nonfarm residents. They often take the form of
business expense accounts, use of business trans-
portation and facilities, full or partial compensation
by business for medical and educational expenses,
etc. In analyzing size distributions of income, it
should be recognized that capital gains tend to be
concentrated more among higher income units than
among lower ones,

The various sources for which income is re-
ported are defined as follows: ‘

Money wages or salary is total money earn-.

ings received for work performed as an employee |

during the income year, It includes wages, salary,
Armed Forces pay, commissions, tips, piece-rate
payments, and cash bonuses earned, before de-
ductions were made for taxes, bonds, pensions,
union dues, etc,

Net income from nonfarm self-employment is .

net money income (gross receipts minus expenses)
from his own business, professional enterprise, or
partnership. Gross receipts include the value of
all goods sold and services rendered, Expenses
include costs of goods purchased, rent, heat,
light, power, depreciation charges, wages and
salaries paid, business taxes (not personal income
taxes), etc, The value of salable merchandise
consumed by the proprietors of retail stores is
not included as part of net income.

Net income from farm self-employment is
net money income (gross receipts minus operating
expenses) from the operation of a farmbya person
on his own account, as an owner, renter, or share-
cropper. Gross receipts include the value of all
products sold, government crop loans, money
received from the rental of farm equipment to
others, and incidental receipts from the sale of
wood, sand, gravel, etc. Operating expenses in-
clude cost of feed, fertilizer, seed, and other
farming supplies, cash wages paid to farmhands,
depreciation charges, cash rent, interest on farm
mortgages, farm building repairs, farm taxes (not
State and Federal income taxes), etc. The value
of fuel, food, or other farm products used for
family living is not included as part of net income,
In general, inventory changes were not considered
in determining net income; however, replies based
on income tax returns of other official records do
reflect inventory changes.

3

Social Security includes Social Security pen-
sions and survivors’ benefits, and permanent dis-
ability insurance payments made by the Social
Security Administration prior to deductions for
medical insurance and railroad retirement in-
surance checks from the U.S, Government.

Dividends, interest (on savings or bonds),
income from estates or trusts, or net rental
income includes dividends from stockholdings or
membership in associations, interest on savings or
bonds, periodic receipts from estates or trust funds,
net income from rental of a house, store, or other
property to others, and receipts from boarders or
lodgers.

Public assistance or welfare payments in-
clude public assistance payments such as old-age
assistance, aid to families with dependent children,
and aid to the blind or totally disabled.

Unemployment compensation, government

employee pensions, or veterans’ payments in-
clude: = (1) Unemployment compensation received
frotn government unemployment insurance agencies
or private companies during periods of unemploy-
ment and any strike benefits received from union
funds; (2) government employee pensions received
from retirement pensions paid by Federal, State,
county, or other governmental agencies to former
employees (including members of the Armed
Forces) or their survivors; (3) money paid period-

. ically by the Veterans’ Administration to disabled

members of the Armed Forces or to survivors of
deceased veterans, subsistence allowances paid to
veterans for education and on-the-job training, as
well as so-called “refunds” paid to ex-servicemen
as Gl insurance premiums; also includes (4) work-
men’s compensation received periodically . from
public or private insurance companies for injuries
incurred at work, The cost of this insurance must
have been paid by the employer and not by the
person. ’

Private pensions, annuities, alimony, regular
contributions from persons not living in the house-
hold, royalties, and other periodic income include
the following types of income: (I)Private pensions
or retirement benefits paid to a retired person
or his survivors by a former employer or by a
union, either directly or through an insurance
company; (2) periodic receipts from annuities or
insurance; (3) alimony and child support; 4)
contributions received periodically from persons
not living in the household; (5) net royalties;
and (6) other periodic income such as military
family allotments, net gambling winnings, and other
kinds of periodic income other than earnings,

Receipts not counted as income. - -Receipts from
the following sources were not included as income:
(1) Money received from the sale of property, such
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as stocks, bonds, a house, or a car (unless the

person was engaged in the business of selling

such property, in which case the net proceeds
would be counted as income from self-employment);
(2) withdrawals of bank deposits; (3) money bot-
rowed; (4) tax refunds; (5) gifts; and (6) lump-
sum inheritances or insurance payments,

All sources of income may be combined into
two major types:

Total money earnings--the algebraic sum of.
money wages of salary and net income from farm
and nonfarm self-employment; and

Income other than earnings--the algebraic
sum of all sources of money income except wages
and salaries and income from self-employment,

Total money income.--The algebraic sum of
money wages and salaries, net income from self-
employment, and income other than earnings repre-
sents total money income,

Median income.--The median income is the
amount which divides the -distribution into two
equal groups, one having incomes above the median,
and the other having incomes below the median.
The medians for persons are based on the dis-
tributions of persons with income. The medians
for wage or salary income, income from nonfarm
self-employment, income from farm self-employ-
ment, and income other than earnings are based
on the distributions of persons having these types
of income.

An increase or decrease in the median income
values between years does not necessarily connote
a significant change. The difference in the size
of the income intervals used to compute median
income can have a sizeable effect onthe interpolated
values. Since 1947 the size of the income intervals
have been revised several times and therefore
the median incomes are not directly comparable,

For further explanation see Series P-60, No. 60,

“Income in 1967 of Persons in the United States,”
pages 8 and 9 and P-60, No, 43, “Income of Families
and Persons in the United States: 1963,” page 6.

Growth rate.--A growth rate can be defined as
the slope of the trend line of a historical series.
The -growth rates in this report were estimated
by use of the compound-interest-rate formula.

n
Xt"Xl(l + 1)
Where: X1= the value for the initial year.

Xt= the value for the terminal year.

n = The difference in years between
the terminal and initial years.

r = The average annual compound
growth rate,

To obtain the average annual compound rate of
change between any two years shown, find the
column for the initial year at the top of the table
and read the figure in that column opposite the
terminal year shown at the left.

For more detailed definitions of growth rates
and the growth rate conversion and compound
interest rate tables, see “Long Term Economic
Growth: 1860 to 1965”, Appendix 1, pages 115 to
129,

Race,--The population is divided into three
groups on the basis of race: white, Negro, and
“‘other races.” The last category includes Indians,
Japanese, Chinese, and any other race except
white and Negro, ‘‘Other races” are usually
shown in combination with the Negro population,

Labor force and employment status,--The defi-
nitions of labor force and employment status in
this report relate to the population 14 years old
and over.

Employed,--Employed persons comprise
(1) all civilians who, during the specified week,
did any work at all as paid employees or in their
own business or profession, or on their own farm,
or who worked 15 hours or more as unpaid
workers on a farm or in a business operated by
a member of the family, and (2) all those who were
not working but who had jobs or businesses from
which they were temporarily apsent because of ill-
ness, bad weather, vacation, or labor-management
dispute, or because they were taking time off for
personal reasons, whether or not they were paid
by their employers for time off, and whether or
not they were seeking other jobs. Excluded
from the employed group are persons whose
only activity consisted of work around the house
(such as own home housework, painting or re-
pairing own home, etc.) or volunteer work for
religious, charitable, and similar organizations.

Unemployed.--Unemployed persons are those
civilians who, during the survey week, had no
employment but were available for work and
(1) had engaged in any specific jobseeking ac-
tivity within the past 4 weeks, such as registering
at a public or private employment office, meeting
with prospective employers, checking with friends
or relatives, placing or answering advertisements,
writing letters of application, or being on a union
or professional register; (2) were waiting to be
called back to a job from which they had been
laid off; or (3) were waiting to report to a new
wage or salary job within 30 days.

Labor force.--Persons are classified as in
the labor force if they were employed as civilians,
unemployed, or in the Armed Forces during the
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survey week, The “civilian labor force” :1s com-
prised of all civilians classified as employed
or unemployed. ‘

Not in the labor force.--Allcivilians!l4 years
old and over who are not classified as employed
or unemployed are defined as “not in the labor
force.” This group who are neither employed
nor seeking work includes persons engaged only
in own home housework, attending school, or unable
to work because of long-term physical or mental
illness; persons who are retired or too old to work;
seasonal workers for whom the survey week fell
in an off season; and the voluntarily idle, Persons
doing only unpaid family work (less than 15 hours)
are also classified as not in the labor force,

Occupation, industry, and class of worker.--
The data on occupation, industry, and ?lass of
worker of employed persons refer to the'civilian

job held during the survey week, )

Persons em-
ployed at two or more jobs were reported in the
job at which they worked the greatest 'number
of hours during the week. |

The occupation and industry groupings used here
are mainly the major groups used in the 1960
Census of Population. The composition of these
groups is shown in Volume I, Characteristics of
the Population, Part 1, United States Summary,
chapter D. The categories used are eitherdetailed
classifications or combinations thereof,

The occupational and industrial classification
systems used in 1940 and 1950 are basically the
same as those used in 1960, There are ajnumber
of differences, however, in the specific cdntent of
particular groups, as well as several differences
in title; however, it is believed that the r1940-60
relationships shown by the data are not \51gmf1-
cantly affected by these differences. The 1940
classification by class of worker is comparable
with the 1960 classification. ‘

Class of worker.—-Two or more of the major
occupation groups are subdivided by class of worker
into two groups: Wage and salary work;ers and
self-employed workers, The former refers to
persons working for wages, salaries, commissions,
tips, pay “in kind,” or at piece rates for a private
employer, or for any governmental unit, The
latter refers to persons working in theu' own
business, profession or trade, for profltror fees,
Included in the self-employed groups are unpaid
family workers, i.e., persons working without pay
in a business operated by a member of the house-
hold to whom they are related by blood, marriage,
or adoption, |

Year-round full-time worker,--A ye:ir-round
full-time worker is one who worked primarily at
full-time civilian jobs (35 hours or more per week)
for 50 weeks or more during the calendar)year.

|
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COMPARABILITY OF CURRENT POPULATION
SURVEY INCOME DATA WITH OTHER DATA

Office of Business Economics personal income

" series.--The income data presented in this report

are not directly comparable with estimates of ag-

- gregate personal income prepared by the Office of

Business Economics of the Department of Com-
merce (OBE). The lack of correspondence stems
from the following differences in definition and
coverage:

1. Income definition,--The personal income
series includes, among other items, the following
types of nonmoney income which are not included
in the census definition: Wages received in kind,
the value of food and fuel produced and consumed
on farms, the net rental value of owner-occupied
homes, the property income received by mutual
life insurance companies, and the value of the
services of banks and other financial inter-
mediaries rendered to persons without the assess-
ment of specific charges. These items of income
in kind account for about 5 percent of total per-
sonal income., The Census Bureau definition of
income, on the other hand, includes such items as
regular contributions for support received from
persons who do not reside in the same living quar-
ters, income received from roomers and boarders
residing in households, and employee contributions
for social insurance, which are not included in
the personal income series, These items, however, -
represent a much smaller income total than the
nonmoney items included in personal income,

2, Source of data.--The personal income
series is estimated largely on the basis of data
derived from business and governmental sources,
These sources include the industrial and popula-
tion censuses, employers’ wage reports under the
Social Security programs, and records of disburse-
ments to individuals by governmental agencies.
The income data presented in the census reports,
on the other hand, are based directly on field
surveys of households, As discussed in the
section on “Source and reliability of the estimates,”
income data obtained in household interviews are
subject to various types of reporting errors which
tend to produce an understatement of income. It is
estimated that the income surveys conducted by
the Bureau of the Census during the past few
years have obtained about 90 percent of the
comparable total money income aggregates and
about 97 percent of the comparable money wage
or salary aggregates included in the personal
income series prepared by the OBE,

3. Population coverage.--The Bureau of the
Census excluded from its sample inmates of
institutions and military personnel overseas or
living on post in the United States, In addition
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the income of persons who died or emigratedprior .
to the date of interview was not reported in the

census inquiry. The income of these groups is in-
cluded in the aggregate personal income series
released by the OBE but is excluded from the
OBE’s family income distributions.

4, Average income.--Most of the average
income figures published by the OBE represent

"mean personal incomes, i.e., they were obtained

by dividing an aggregate personal income by a total
number of persons (or families). The census
averages in this report, on the other hand, are
median incomes, representing the point on the
money income scale above and below which one-
half of the persons receiving income are to be

. found. Because of the shape of the income distri-

bution curve, median incomes are considerably
smaller than mean incomes. Furthermore, certain
of the OBE average income figures (e.g., for geo-
graphical regions) represent income per capita,
i.e., they were derived by dividing total income by
the total population including men, women, and
children, Most of the census averages, incontrast,
are for families, unrelated individuals or income
recipients 14 years old and over,

Percent changes ‘in average income from one
period to the next, and percent differences in
average income among component groups of the
population within any one period, will not nec-
essarily correspond for these various averages.

. This is so because the shape of the income dis-

tribution curve changes over time and varies
among population groups at any given time,

Department of Agriculture farm income

series.--The farm income data shown in the P-60
reports are not directly. comparable with estimates
of the aggregate amount of income received by the
farm population and estimates of the aggregate
farm income of farm operators whichare prepared
by the Economic Research Service of the Depart-
ment of Agriculture, Data from the two sources
differ in several respects for the reasons cited
below:

1. The census data show distributions of
persons by farm self-employment income levels
and distributions of persons by total money income
levels, but do not show estimates of the amount of
aggregate income, Agriculture estimates provide
information on the amount of aggregate income
received by the population but do not provide
distributions by income level.

2. The agriculture estimates are based on
data derived from farm, business, and govern-
mental sources. As indicated previously, the data
presented in the P-60 reports are based on field
surveys of households,

3. The definitions of income are different,
The census definition includes, among others, the
following items which are not included in the
agriculture series: Contributions for support
received from persons not residing in the same
living quarters and government and business
transfers of income.

4. The census data onthe total money income
of the farm population differ from the agriculture
estimates of “net income of the farm population”
for reasons other than those cited previously, as
follows:

a. The census data do not include under
the farm classification the incomes of those
nonfarm residents who reported the receipt of
some farm income while the agriculture series
includes the total net farm income of all farm
operators,

b. Income in kind--the imputed value of
farm products grown and consumed directly in
farm households, and the imputed rental value
of owner-occupied farm dwellings--is included
in the agriculture series but excluded from the
census definition of income.

5. The census data on the civilian non-
institutional population’s net income from the
operation of a farm differ from the agriculture
estimates of farm operators’ “net cash income from
farming” for reasons other than those cited above,
as follows:

a. The census estimates are based onthe
answers to a single direct question onhow much
net income was derived from operation of a
farm during the preceding calendar year, The
agriculture series on “net cash income from
farming” is derived by summing estimated cash
receipts for a large number of crop and livestock
items, and subtracting estimates of the various
kinds of cash production expenses incurred.

b. The agriculture series includes the
net income of farm operators from the rental
of farms to other farmers but the census
definition classifies these receipts as income
other than earnings, not income from farm
self-employment,

c. The agriculture definition of farm
expenses used in deriving “net cash income
from farming” includes actual expenditures on
the repair, construction, or purchase of
buildings, machinery, and other capital equip-
ment added on the place while the census
definition includes only the money spent on
repairs, On the other hand, depreciation
charges are treated as farm expenses under the
census definition but not inthe agriculture series
on “net cash income from farming.”




Surveys of Consumer Finances.--The Survey of
Consumer Finances which has been conducted
annually by the Survey Research Center of the
University of Michigan provides, among other data,
information on the size distribution of income.
These surveys are based on nationwide samples
that cover all persons in private households.
Several important differences between the Survey
of Consumer Finances and the present report may
be noted:

1. The income-receiving unit in the Survey
of Consumer Finances estimates is the spending
unit or the family, whereas the data in the present
report relate to persons 14 years old and over,

2, The Survey of Consumer Finances esti-
‘mates are based on a sample which is different
from and smaller (approximately 2,000 spending
units in 66 areas) than the census sample. Dif-
ferences between the results are subject to sam-
pling variability arising from each survey. This
factor alone could account for moderate discrep-
ancies between the two sets of data,

3. There are some differences in the esti-
mating procedure. The Bureau of the Census
inflated its weighted sample results to agree with
independent estimates of the civilian population

of the United States by age, color, and sex,.

whereas the Survey of Consumer Finances weighted
sample results were inflated to agree with inde-
pendent estimates of occupled dwelling units,

4, Only eight income questions are asked
for each person in the Bureau of the Census
sample whereas numerous detailed questions on
income and other financial items are asked of the
head of the spending unit and all other members in
the spending unit in each household inthe Survey of
Consumer Finances sample.

Federal income tax data.--For several reasons,
the income data shown in this report are not
directly comparable with those which may be ob-
tained from statistical summaries of income tax
returns, Income, as defined for tax purposes,

differs somewhat from the concept used by the -

Bureau of the Census. For example, certain types
of receipts such as veterans' payments, Social
Security benefits, and relief payments, which
constitute the main income source for some
families, are excluded from income tax coverage.
Moreover, the coverage of income tax statistics is
less inclusive because persons receiving less than
$600 (less than $1,200, if 65 years old and over)
are not required to file returns. Furthermore,
some income tax returns are filed as separate
returns and others as joint returns; and,
consequently, the income reporting unit is not con-
sistently either a family or a person.

7

Old-Age, Survivors’, Disability, and Health
Insurance earnings record data.--Census data
shown in this report and the distributions made
upon the basis of Old-Age, Survivors’, Disability,
and Health Insurance earnings record data differ
for the reasons listed below:

1. The earnings of the following groups
are not covered: many Federal, State, and

local government employees, some employees of

nonprofit organizations, workers covered by the
Railroad Retirement Act, and persons who are not
covered by the program because of insufficient
earnings, including some farm and nonfarm self-
employed persons, some farm workers and
domestic servants,

2. Employees’ earnings in excess of $7,800
per employer are not covered by the earnings
record data.

3. Income other than earnings isnot covered

by the earnings record data.

4. The earnings record data are based upon
employers’ Social Security tax reports and the
Federal income tax returns of self-employed
persons, whereas the data presented in this report
are obtained by household interviews.

SOURCE AND RELIABILITY OF THE ESTIMATES |

Source of data.--The estimates are based on
data obtained in the Current Population Survey of
the Bureau of the Census. For 1967, 1968 and 1969
the sample is spread over 449 areas comprising
863 counties and independent cities, with coverage
in each of the 50 States and the District of
Columbia, Approximately 50,000 households are
designated in the Current Population Survey for
interview each month, Of this number 2,250
occupied units, on the average, are visited .but
interviews are not obtained because the occupants
are not found at home after repeated calls or are
unavailable for some other reason. In addition

- to the 50,000 there are also about 8,500 sample

units in an average month which are visited but
are found to be vacant or otherwise not to be
enumerated. For the years prior to 1967, the
sample was spread over fewer areas with fewer
interviewed households, Prior to the March 1966
survey, income data were collected from only 75
percent of the households included in the CPS,
See Current Population Reports, Series P-23,
No. 22, “Concepts and Methods Used in Manpower

‘Statistics from the Current Population Survey,”

June 1967, pp. 7-10, for more information about
the sample design.

The estimation procedure used in this survey
involved the inflation of the weighted sample results
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to independent estimates of the civilian noninsti-
tutional population of the United States by age,
color, and sex., These independent estimates were
based on statistics from the 1960 Census of
Population; statistics of births, deaths, immi-
gration, and emigration; and statistics on the
strength of the Armed Forces. To these totals
were added the population in the Armed Forces
living off post or with their families on post. A
further adjustment was made so that all members
of a household got the same weight while at the
same time leaving unchanged the estimates for
certain basic labor force categories.

Reliability of the estimates.--Since the esti-
mates in this report are based on a sample, they
may differ somewhat from the figures that would
have been obtained from a complete census, using
"the same schedules, instructions, and enumerators.

Particular care should be exercised in the inter-

pretation of figures based on relatively small
numbers of cases as well as small differences
between figures, As in any survey work, the
results are subject to errors of response and
nonreporting as well as being subject to sampling
variability,

In most cases the schedule entries for income

are based on memory rather than on records, and
in the majority of cases on the memory or
knowledge of one person, usually the wife of the
family head. The memory factor in data derived
from field surveys of income probably produces
underestimates because the tendency is to forget
minor or irregular sources of income. Other
errors of reporting are due to misrepresentation
or to misunderstanding as to the scope of the
income concept.

The standard error is primarily a measure
of sampling variability, that is, of the variations

that occur by chance because a sample rather

than the entire population is surveyed, As
calculated for this report, the standard error
also partially measures the effect of response
and enumeration errors, but it does not measure,
as such, any systematic biases in the data.

In order to derive standard errors that would
be applicable-to a wide variety of items and
could be prepared at a moderate cost, a number
of approximations were required. As a result,
the table of standard errors provides an indi-
cation of the order .of magnitude of the standard
errors rather than the precise standard error
for any specific item. The reliability of an
estimated percentage, computed by using sample
data for both numerator and denominator, depends
upon both the size of the percentage and the size
of the total upon which the percentage is based.
Tables of standard errors for the survey years
included in this report have been published in the
Series P-60 reports, Nos. 1 to 68,

All the tables in this report present estimates
of median income or estimates of growth rates
which are based on estimates of median income,
The sampling variability of an estimated median
income depends upon the income distribution and
the size of the base.

Table A shows 68 percent and 95 percent
confidence intervals for an illustrative group of
medians presented in appendix table A-3, The
illustrations indicate the effect of the size of the
base on the confidence intervals for the medians.
A 68-percent confidence interval is defined such
that if many samples are taken and a one-standard
error confidence interval is formed for each

'sample median, about 68 out of 100 of these intervals

will contain the median which would be found if a
full census were taken, For a two-standard error

Table A.--SAMPLING VARIABILITY OF SELECTED MEDIANS

- Base Confidence interval of median
Characteristic Year (thou- Median
sands) 68 percent 95 percent
MALE
Total with Income...eeeeeesessecssssss| 1968 62,501 $5,980 | $5,930 - $6,020 $5,880 - $6,070
Professional, technical, and kindred
WOTKerS. eeeeeueneonensnsenaneanns ceeo| 1968 6,758 9,960 9,850 - 10,130 9,720 - 10,300
Self-employed.eeeeesseeeoscesosscnnes 1968 672 16,356 15,000 - 17,650 14,020 - 18,970
Salaried......cecunene teseseanssssas| 1968 6,086 9,715 9,590 - 9,820 9,470 - 9,940
Operatives and kindred workers........ 1967 9,521 5,858 5,810 - 5,920 5,760 - 5,970
FEMALE
Total with inCome...evssesvssennsrens| 1968 48, 544 $2,019 | $1,990 - $2,050 |- $1,970 - $2,080
Operatives and kindred workers........| 1967 4,048 3,218 | 3,170 - 3,260 3,120 - 3,310

Source: _Appendix table A-3.




or 95-percent confidence interval, about 95 out of
100 of the intervals formed would contain the
census median, For an explanation of how these
confidence intervals are formed, see Series P-60,
No. 60 “Income in 1967 of Persons. in the United
States.”

NONRESPONSES AND ALLOCATIONS
In the March 1969 CPS, no information was
recorded for approximately 5 percent of the
50,000 households because no interview could be
obtained during the week in which the enumeration
was conducted. In order to account for these
households, the weights assigned to other sample
households of similar characteristics residing in
the same sample areas were increased accordingly.
In addition, complete income information was not
reported for about 19 percent of all families and
about 14 percent of all persons 14 years old and

over in households that were interviewed.

In order that the maximum amount of information
can be utilized, missing income items are imputed
or allocated by values which are obtained from
active respondents with similar economic and
demographic characteristics, Beginning with the
March 1962 survey, when a respondent did not
answer one or more of the income items, all of
his income data were imputed.

Beginning with the March 1966 survey, however,
in the event a respondent did not answer one or
more of the income questions, the missing income
data for this person were imputed for only those

income items which were not answered, Each of

the earnings items was handled individually,
whereas income items other than earnings were
handled as a group. Characteristics used in this
imputation are age, family status, color, residence,
weeks worked, and major occupation group. The
income amount assigned to a nonrespondent is that
observed for another person with similar demo-
graphic and economic characteristics who did
respond and who has been selected systematically

9

in the order 'in which individual records are
processed.

In the tabulation of income from surveys prior
to 1962, the distributions by income levels had
been based only on those cases which reported
complete income information., The assumption
implicit in this method was that persons who do
not provide income information have the same
income distribution as those who do provide such
information, Using income data for 1958, a com-
parison was made of the income distributions
obtained before and after the assignment of income
to nonrespondents on the basis of known demo-
graphic and economic characteristics. This com-
parison indicated that the procedure for making
individual assignments of income to nonrespondents
resulted in slightly higher estimates of the pro-
portion ‘of families and individuals in the upper
income classes than those obtained from the
distributions based solely on those reporting on
income. (See Current Population Reports, Series
P-60, No. 33, tables F and G.)

The use of more advanced electronic equipment
has enabled the Bureau of the Census to introduce
improved income edit and allocation procedures for
the March 1968 and 1969 CPS data. The main
feature of the new procedures was a more refined
method for imputing missing income data which
expands the use of information already known about
that person., Among the major improvements made
affecting the income data are the following: (1) an
expanded set of social and economic characteristics
within which the imputations are made; in addition
to age, color, occupation, and weeks worked, the
new procedures include sex and type of family
member as major variables within which the
missing income items are imputed; (2) the elim-
ination of inconsistent reporting which resulted
in having workers with no earnings and earners
with no weeks worked; and (3) the new imputation
procedure assigns missing earnings entries first
and then utilizes the earnings information to
assign missing sources of income other than
earnings,
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